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I. What is the value of the 2. A number has 5 hundreds.
3in 3687 It has more tens than ones.
It has 6 ones.
® 3
Which could be the number?
30 Choose all that apply.
© 100 O 576
@ 300 D 566
O 556
(O 586

3. Look at the model of the number below. Then complete

the sentence.

equals hundreds,

4. Solve. Use models if you need to.

How many stickers would you
need to give Maya so that she
has the same number of stickers
as Todd?

stickers

&

tens, and ones.
Total =200 Total = 500
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Maya’s stickers Todd’s stickers
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